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3 more problems
1. Find the value of  if:

 
 
 
 
Trial and improvement: 
Therefore, 
2. If 86and 6 3. How many do you need to equal 12 ?

		
8	6	12
	24	18	36
	12	9	18

Therefore, 12

3. In a stable there are men and horses. In total there are 24 heads and 68 legs in the stable. How many men are there in the stable?

[image: ]men + horses = 24

A bit of trial and improvement will get you to the answer of
14 men and 10 horses
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Hand in by 1500 on Thursday (place in the box outside the foyer). The best solution (not just the answer) will be announced on Friday. The solution will posted on the website: http://markrushby001.wixsite.com/sv-maths/problem-of-the-week 
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